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(1) R C BT FE, FFUIILEAR;

(2) BEH 2k x=3 L3l P(3, p)(p0)7AfE C P42k PQ. PR (Q. R AV 1),
N 45% QR [ ri, HZ o 3x+4y=62315 x 4. y #iZZ T2 E. F, SRANEF B S
FR)iVEIERENEER

fik: (1)

(2

|MO| _1 Ve 1

wMxy), yIMA| 2 m(x=37+y" 2

iam X +y +2x-3=0, Eﬂ{x+l):+y3=4’

W CELA(- 1, 0L, ARk 2 I,

gD1L0), FEPXP#0) y pp a@qnlaya“’g}' DPEIes P
(x-1 + (y- Ly = (IO L

PLZ Bt DP 4 HAT A 72k 2 2 ,

%ﬁﬁxz+}fz—2x—py—3={)®

s, Qv RAELLDP NEALHIA F,

% Q. RYEC: x2+y2+2x—3=0@£’

EB®_®, /%4x+py=0,

BiLL, ) A8% QR FifE Bkt el 4x+py=0.
Al )L QR fHIARFR R T O(0, 0),

{4.\’+ py =0,
i L+ D745 =4 e (16:+p7)y" ~8py—48=0.

__8p
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Wy, __4p
2 16+ p°

Yy =
RN PALFR

ygp:’to’ Eﬁi'y”;ﬁoy

F}?u){_i N 5){_:_'; D( - 17 0)7 0(07 O)iéjz:i/a\,
Ah N 3% QR iR i, H.D(-1, 0)A C iy,
& 5, 7773 DN_LQR, EJ DN_LON,

p \ 1 1

R k3% HAY =0 5 mg x sy BT R EL F,

E(2,0). F(0,2) |EF|=§
L 27, B 2,
1
3x(—=)+4x0-6
G (-=.0) d=| P |=§
2 34y =6 e V3 44 2,
WANEF i EE e h, W5 N SEZ3x+4y =06 uumss n i My b
d-r=2-1_ der=24+122
2 2 ENFELSIX Y =0 ppn h i 2 2
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22. (AU 12 47)

figd: (1) BRELf(X) 1E X3Ch R, _f"(I}=-aSinx+c5" .

CLAT BRI AL (X) :acosx+1—e%_x, A f’(%) =0.
(1) skez¥affi, W f(x) 75, %)LE’J%J%'@;

(2) WHiEfIkeN”, z%f(x)zz[zkm%, 2k + 7] FIIE AL

n
¥

f’(E} —_asint+e? 2=]-g
il 2 2 , hiE, l-a=0, gla=1.
T2 f(x)=-sinx+e? )
n
=] D,_' " . E—.n . .
%x ( E)Hq, f'(x)=-sinx+e? >e’'—sinx=1-sinx>0.
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FiLh £ (x) (0, %)Liiﬁﬂﬁi;

2

(2) f(I}=COSI+1—BE-I+ j'ge:_; 20 prp g(x}=ex_3f(x)=(1+c05x)er_ —lx_ﬁf(x}E

[2kn+—, 2kn+n] (keN)
2 AR A

g'(x)=(1+cosx—sin x}ex_;- =[1+ Jz_cos(x + %)]ex_E .

In 5n s «.5

%xe(2h+%.2h+n}ﬁ7 xte e(ﬂm #7505 eos(x+ ) e[l -5,
JECOS(I+;)E[—\E,—1}. 1+J§cas(x+;)<0.

o 2'(x) =[1+ 2 cos(x + e 2 <0
ve *>0, prpl 4 ,

xe[2kn+ =, 2kn+a]
FiLL, 24 2 i, O i,

g(2h+g)=e?“—1>e”—l=0, g(2kn+m)=-1<0,

2kn+ X, 2n+n] (keN)

i A v s E 5 8 e, 4n 80 ¢ 2 R
A AN,

b+ X, 2km+n] (keN)
%uumﬁ 2 A AR A
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